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1. The graph of the function f(z) = —In|z+1| lies above
the z-axis over the interval

/(aa/(—2,—1)u(—1,0) Sece ﬁxmple ¢ P 3gs

(b) (=00, —2) See Problems # 67 and 68 P372
(¢) (=o0,—1)
(d) (-1,00)

() (=00, ~2) U (0,00)

2. The solution set of the equation

log(z — 4) — log(3z — 10) = —log «

contains &9’6 P’e 7 P‘ Y2
| See Problems 21 720 PHIS

/Q&’)/one positive integer

(b) two positive integers
(c) two positive irrational numbers
(d) one positive irrational number

(e) no real numbers
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3.  logy 2%y — 2log, z Yy + 3log, 5 =

o o e Crample 2 P 296
) See Problema #9 & 14 | Ho3-471

T
b) log, —=
( ) 2 y2/3

4. If z=e"0342I5) 4nq 4 =Inved, then z+y=

12 Omd. o WHM omd  Ele

(b) % I Mverse tmdin on P 383

© 3

100
11

O
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5. If cot9=-;—, 7r<0<3§, then sinf+ cosf =

Qo0 Problems # 15 & 24 R 497

X
Sl

—_
o’
~—
w

A
C
Sl S Sk

6. Which one of the following state;nents is FALSE about the
—r+
function f(z) =-1+ (%) ?

220 &mf’% 2 and 3 P37/
Jﬁa/ decreasing on (—o0,00) See PYablem/)# 17 G 39 P377

(b) increasing on (—o00,00)
(c) f is a one-to-one function
(d) therangeof f is (-1, o)

(e) the graph of f is asymptoticto y=—1
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7. Let W(t) be the wrapping function. If W(—HTF) %(a, b)
and W(—l—g—ﬂ)=(c,d), then a+d= |
el P Soo
)
®) V3 Sen Probloms | & 0 bS50
(d) —v3

8.  The smallest positive angle coterminal with the angle (820.25)° is

Sao Problems # 19 G 24 P473
L 100° 15" |
(b) 20° 52
(c) 100° 15’ 2"
(d) 20° 50’ 2"

(e) 100° 15’ 1”
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10.

Page 5 of 8 MASTER

An arc of length 150 m subtends a central angle of 300°

in a circle of radius r.

The

2500 m

The radius r is equal to

S Cxample 5 P 469

exact value of c¢sc(225°) - tan(—240°) + sin 150° is

1 .
§+\/6

1
Va+ o

V2 +2v/3
V3

V6 +4+/3
V2

V6 + 23

Seo Problens 37 & 48 R 417
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11.  From the top of a 200-ft lighthouse, the angle of depression

to a ship in the sea is 60°. How far is the ship from the
base of the lighthouse? '

ae Probloms # 65 omd 46 R 486

(b) 400 ft
(c) 200V3 ft

@ 40(;/3 i

(e) 400V3 ft

12. If cos170° =k, then cos350°+ 2sec190° =

2 — k2 An ﬂpp/{&/fm a% He Cmce)a[

oy w )
kk k # " P#Pf%& AMJ/CS ﬁ ‘/?S
2k* +

(b)

o F Soe Oxampls 3 P 491

c) -3k

© . Sae Problems 254,36 P17

(d) —

(€) —k+2VI— k2
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2
13. If log,2=0.6, then log,, (%) is equal to

g Am Applicstion of Change of

16

16 Bone 0”"""“@"“ P. 347

(b) 17

| 3 P.327
(©) % See 8>(am1>'€
(d) = See Prab/&m/) 5 b 21 R L/aq
15

© o

/]A./ The domain, in interval notation, of the function f(z) = y/In(z — 3)

is equal to
(8) [4,00) o
lomn # 39 L9497 P39
(b) (3,00) Sea Prob
() (3,4]

(d) (=00,3)

(e) (0,3)
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15. If 3.22°=2.3"*! then z=

n 3 P49/
ao gty S Bample 3 Ro

Sor Problems #1720 P.4IS

In3
(b) ™

In2
(c) In3

In3
@) 562

In2
(e) In6



